Example 8.7

The coefficient of sliding friction between collar A and its horizon-
tal guide is u, but friction between collar B and the inclined guide is negligible. The

el 5o Has

spring, whose stiffness is k, is unstretched when ¢ = 0. The bar and each collar have * et S
L : . . . e owle Lo e
identical mass m. Determine the equations of motion of the systemJ Then consider (epmontef
a specific case in which kLL/mg = 4, B = 60°, and the coefficient of sliding friction is
u = 0.25. The bar is released from rest at ¢ = 30°. Determine the elapsed time until
the bar comes to rest and the mechanical energy that is dissipated by friction in that
interval.
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Example 8.7 (cont.)
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Example 8.7 (cont.)
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